“Why are we here?” Literary Analysis Paper
For this paper, you are going to combine the thematic question of our existence on this planet and your ability to critique an author. 
You know that the first step in the writing process is brainstorming. You have already done most of the brainstorming for this paper already. Put simply, this paper requires you to compare/contrast how each text we have encountered answered the question, “Why are we here?” and then to evaluate which author answered the question most effectively. You need to choose three texts we encountered in this unit: Hamlet, Oedipus Rex, and either Rosencrantz and Guildenstern and Dead or Waiting for Godot. In other words, examine the three texts, figure out how they answer the question, determine exactly HOW the author answers the question, compare the “How”s of each author and then prove which author does it the best. This will require you to practice the kind of thinking you have done all trimester in your independent novel metacognition; this paper is basically about the four “close and critical reading” questions in three different texts.
The question is above. You know the thesis is in the question. So, record your thesis below:

Now consider your structure. How will you arrange your body paragraphs? Review the question to help you. You need to do quite a few different kinds of writings here.

1) Compare your thesis text “A” to another text “B”

2) Contrast your thesis text “A” to another text “B”

3) Compare your thesis text “A” to another text “C”

4) Contrast your thesis text “A” to another text “C”

5) Evaluate how A is better than B

6) Evaluate how A is better than C

Some of these ideas (1-6) may need their own paragraph and some may be put into the same paragraph. As long as you use topic sentences to guide what your paragraph will be about and stick to that topic sentence in that paragraph, you will be fine. Also, the order I placed them in (1-6) is random and not necessarily the order in which they should appear in your paper. 

Here are some things this essay is NOT
1) It is NOT a persuasive essay

2) It is NOT a plot summary

3) It is NOT something you should take lightly
Extra training wheel: (Don’t read this if you want to challenge yourself)

Here is a body paragraphs structure that students in the past have used successfully:

1) Compare and contrast A-B

2) Evaluate why A is better than B highlighting the contrast from paragraph #1

3) Compare and contrast A-C

4) Evaluate why A is better than C highlighting the contrast from paragraph #3

5) Insightful, comprehensive re-explanation of why A is better than both B and C. Even better is to introduce a new, more profound way that A is better than B and C here. It is virtually impossible the get a “6” in the “Depth and Maturity” row of the rubric without a new idea here in this paragraph.
Teacher Example 

Thesis: Mr. Foster shows teaching better than Mr. Hundey or Mr. Stump

1) Compare and contrast A-B = Both teachers like to have fun in class and talk about issues important to the students. Mr. Foster uses vocab games, like El Serpiente, to teach vocabulary words. In contrast, Mr. Hundey just gives students the words and has them learn them on their own. 

2) Evaluate why A is better than B highlighting the contrast from paragraph #1 = Mr. Foster is a better teacher than Mr. Hundey with respect to vocabulary words because he uses vocab games. The vocab games are fun and entertaining. Students learn better when they are having fun. Part of this fun is competition when games are played with teams. When Hundey doesn’t play games, it hurts his students’ vocabulary mastery. When students study on their own; this means they are not playing vocab games. Therefore, they won’t have as much fun as Mr. Foster’s students and won’t be competitive with the vocab words like Mr. Foster’s students. Therefore, because of the discrepancy in fun and competition, Mr. Foster’s vocab games make him a better teacher than Mr. Hundey. 

3) Compare and contrast A-C = Both teachers provide reliable, detailed information when they teach. Mr. Foster is more personable and tells stories of himself in class. Mr. Stump is angry, mean and gives no personal details about himself. 

4) Evaluate why A is better than C highlighting the contrast from paragraph #3 = Mr. Foster is better than Stump because of his rapport with students. Foster is nice; Stump is mean. The more students know a teacher on a human level, the more they will pay attention in class, behave in class and want to do well in that class. Students do all these three with Mr. Foster because he is pleasant; they don’t do any of these for Stump as he is disgruntled. Therefore, because of being personable, Mr. Foster is a better teacher. 

5) Introduce a new, more profound way that A is better than B and C here = Mr. Foster is better than the other two because he is bald. Everyone knows that students perform better for bald teachers. Every follicle of hair that both Hundey and Stump have is pushing their students further into a pit of academic failure. In contrast, with the shine and shimmer of Foster’s dome, students excel in his room. Therefore, through his baldness, Foster is the best teacher of the three. 

Thesis: Shakespeare’s Hamlet best personifies an answer to the question, “Why are we here?”

The symbolism of Yorick’s skull in Hamlet, more powerfully answers the question, “Why are we here?” than the futile foreshadowing of Godot’s appearance in Waiting for Godot. In act V, scene I of Hamlet, Hamlet contemplated his existence and the existence of all man kind in a graveyard. Within this scene, the young prince held the skull of his former friend and court jester, Yorick, and whined to his deceased friend about the frailty of life. While Hamlet certainly acknowledged and pined over Yorick, he used his joker’s skull as a symbol for the death of any human. More specifically, it was Shakespeare that actually used this physical, visual symbol for death. As Hamlet recited his monologue of lamentation for the loss of Yorick’s life, he was also reciting a lamentation for the life of all humans. Specifically, Hamlet stated, “meaningful quote” (Shakespeare 51). In this meaningful quote, his universality rang true in that logical explanation. This symbolism rings true in the audience as they are able to physically see the symbol. The concrete object of a skull is universal and easily understood by all members of all audiences in any time period; everyone dies and can relate to the idea that skulls personify this death. Therefore, the concrete nature of Shakespeare’s symbolism is extremely powerful.
In fact, this literary device is more powerful than the literary device used by Samuel Beckett device of foreshadowing in Waiting for Godot. In this play, Beckett continuously foreshadowed the arrival of Godot throughout the play. For example, 14 times in the play, the protagonists questioned, “What are we doing here?” and in response someone responded, “We are waiting for Godot” (Beckett 33). The implication here is that Godot will arrive at the end of the play and give purpose to not only the protagonists, but to the existence of all the characters, to the audience and to all humanity. In the same way that Shakespeare’s Yorick skull explains that “we are here” to end, Beckett’s foreshadowing of Godot’s arrival explains that we are here to welcome a “higher power.” Specifically, as the characters waited for GODot, they were waiting for the coming of a higher being: one that is more omnipotent and one that will justify their existence. 
However, this literary device is not as powerful as Shakespeare’s device. Specifically, where Shakespeare succeeds most prominently in being concrete, Beckett is completely lacking as he was too abstract for an audience to completely comprehend. A viewer of Hamlet can see the skull and is a witness to the tangible symbol. In contrast, an audience member of Waiting for Godot never sees the literary device manifest itself physically and never witnesses the coming of Godot to fulfill his expectation of the prominent foreshadowing. Therefore, as the audience has an embodiment of the literary device in Hamlet, and is lacking said manifestation in Beckett’s play, Shakespeare more accurately and effectively address the question of, “Why are we here?” 
